Year 5 Assessment Exercise lb

Multiplication and division

Work out the answer to each calculation using a written method.

918 + 8

There are 8 mangoes in a tray. Fabio the greengrocer has
150 mangoes to put into trays. How many full trays can Fabio fill?

Fabio receives a delivery of 385 eggs. He puts the eggs into
cartons of 6 to sell. How many cartons does Fabio fill?

@ divide numbers up to 4 digits by a one-digit number using

the formal written method of short division and interpret : . -
remainders appropriately for the context isizl: - Uiz e Mastery: [LMg &




